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Time for marking all 100 ques_ltions\ .

12. This Question Booklet contains 100

' v3 Tally the number of pages aiong w1th the

{4. If any discrepancy is found in the |

| © English version will be treated as correct.
1 6. Before answering the q,uestums, please

wft 100 v¥t B sifwa FA @ T 2 O ftrerdn 3w : 100
| NOTE o e ;
b Thie | Question Bookiet “hax et | 3 ey wey e 3 o ¥
. N
Section—A : General Knowledge and m—ﬁ e E“'" I T i I
Logical Knowledge (Q.-Nos. 1-40) SR : (¥ 9o 1-40)
‘Section—B : Mental Ability and vrm—n é‘lﬁ@ o wE A AR
‘Mental Aptitude Q. Nos. 41-70)

Section—C : Sc1ehce and .
Simple Arithmetic (Q..Nes. 71-100)

queéstions numbered from 1 to 100 and
. each question carries 1 mark. All
" questions are compulsory. There is no
negatlve marking,. ’

number of questions printed on the cover
page of‘the Question Booklet. Also check
that Questlon Booklet . contains the
questions of " all relevant ‘Subjects/
-Sections, as required and stated above
and no repetition or omission of
questions is evident. g

Question Booklet, the same can be
replaced with another correct Question
Booklet within first 15 minutes.

5. In the Questlon Booklet all the questlons
.-are printed in Hindi and English. If any
dsscrepancy is found in Hindi and
English version of a /question, the

read carefullythe instructions printed on
- the back cover page of the Question
Booklet and strictly follow them. There is
‘no provision of erasing or changmg of the
answer marked in the OMR Answer-
Sheet by any other means. Therefore, |

indicate your answers by biackening

provided.

7. Use of any type of calculator, mobile
phone or any other electronic equipments
_and log table, etc., is strictly prohibited.
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GENERAL KNOWLEDGE AND LOGICAL KNOWLEDGE

SRy 3

 Direction (Q. Nos. 1 and 2) :
figure, the circle reprepgmts  teachers, the
triangle represents farmers q.nd the rectangle
represents doctors Study the f

T g0y

mmqamﬁmm

: In the given ﬁiw(mao 1 aﬁzz) ﬁaﬂ'&ﬁiﬁ?ﬁm

:métﬁw

ﬁﬁﬁmﬁuﬁﬁ%mﬂaﬁwﬂhﬁ%t
ﬁaﬂ%ﬁammémwﬁwﬁfﬁﬁmﬁs

Teachers

Doctors—»

1. Which region represents the tgachers
and doctors but not farmers?

a) 2
® 1
© 4

- D) 5 ST

2. Which region repredénts the farmers
and teachers?

a) 3
(B) 4

(C) 6

D) S

PTNC-1I/13-A/1-A 3
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A) 2
B) 1
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; _,,(A) 3 :

B) 4
< 6

D) S
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3. Suez Canal joins Y e &gwﬁa@ forat et 27

(A) Persian Guif and Arabian Sea | ., (A) R F W7 AR

(B) Red Sea and Mediterranean Sga o eoe  (B). ST GER T YA AR

(C) Mediterranean Sea and Black Sea ‘ (C) ¥HeA YT TN Sl R
- - w0 e R - UUBEY ool s saEn £ £ : B
" 4. Who built the famous Dllwara Temple 4 k 13-.5& m ;| Iﬁl’(’-ﬂ'ﬁ -a.; ITBQ 3"1,} m
at Mount Abu in Rajasthan in the ﬁFﬁTQT qﬁ( ﬁﬂﬁ e
13th century?
(A) TREI
(A) Mahendrapala ‘ ‘ o ,
L o .(B)»,ﬂ%ﬁq'k‘-{‘ R T ’
(B) Mahipala - . ,
, o (C)trwnaﬁn
(C) Rajyapala ,
D) AT
(D) Tejapala D)
5. ‘weh Wa’ R ?
5. Black Death is w1 # e
B) @
(B) plague (B)
(C) AIDS €) &
(D) gonorrhoea (D) giiisy
?
6. Dry ice is nothing but 6. Tt o T ¥
(A) gaseous carbon dioxide A) frefta e STRIATFES
(B) washing soda (B) € 1 WA
(C) solid carbon dioxide (C) 3 v TRATFTS ~
' D) carbon monoxide - (O) FERE
7. In the industrial production of vegetable 7. S ot & Sieifs e # aﬁ:r-@h fafy
ghee, the process involved :is - W & arht s /7
(A) dissociation ) @A) friem
(B) reduction (B) 9=
(C) oxidation s (C) il
(D) ionization - (D) IR

PTNC-1I/13-A/1-A 4
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10.

D) 18

11.

D) Australig ¥

.mthch oﬁ .the

In which of ‘thé following systerhs
of government is bicameralism an
essential feature?

(A) Parliamentary system '

{B) Presidential system

(© Federal system g _
(D) Unitary system =~
Kuldip Nayar, a }oiﬁﬂﬁliﬁf‘;é was
appointed as a High Qorng;jss?gner in
(A) England o
(B) Pakistan
(C) Sri Lanka

SR

dd

How many spokes are. there in the
Dharmachakra of the Natxonal Flag?
@A) 22 rEy :

(B) 24

C) 14
o —f ¥ “a C ‘;,:y »fgg'

The seat of Madhya Pradesh ngh Court
is located at : .

(A) Bhopal e
(B) Jabalpur -
(C) Gwalior
(D) Indore

iw,f BELER SN et

&Mng ¢ 48 called

™
T s
35

Pink City’?

{A) Lucknow

(B) Jabalpur

(C) Jaipur T
(D) Kolkata ‘

PTNC-1I/13-A/1-A
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13. The sweet taste of fruits is due to
(A) maltose
(B) ribose
(C) lactose

(D} fructose

14. Railway coaches :'areﬁ mahufacmfed at
(A) Perambur
(B) Varanasi
(C) Jamshedpur
{D) Chittaranjan

18. Which of the following ceréals was
among the first to be“used by man?

-.(A) Barley
(B) Oat
(C) Rye
(D) Wheat
16. Who among the following Presidents
held office for two consecutive terms?
(A) Dr.S. Radhakrzisﬁ;;ni
(B) Dr. Zakir Hussaxn
(C) Dr. Rajendra Prasad
(D) Both (A) and (C)
17. Which Amendment Act reduced the
voting age from 21 to 18?
(A) 42nd
(B) 44th
(C) 52nd

(D) 61st

PINC-II/13-A/1-A
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17.

(C) o TR YU

(D) 3wt (4) T (C) o

e e sfufaw & waem it ong 21 =
¥ 92T 18w & el 7

A) a2af

(B) 4adf

(©) —szaif

(D) 61af
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18.

19.

20.

21.

22.

Which of the followis
mealayan nver?

-(A) Ganga

(B) - Yamuna
(C) Sutlej
(D) Ravi

Which of the follawmg 1tems is not used
in Local Area Networks (LANs)?-

(A) Computer e

(B) Modem

(C) Interface Card

(D) Cable o ¥

The  65th  National = Football

Championship (Santosh Trophy, 2011)
was won by ‘

(A) Manipur
(B) Goa

(C) Bengal
(D} Punjab

The brightest phnéi‘”’i*s
(A) Jupiter -

(B) Mars

(C) Venus

(D) Mercury

The Maratha Saxnt "ot ‘Was a
contemporary of Shlvajl, was

(A) Saint Dhyaneshwar

(B) Namdev !

(C) Saint Eknath -

(D) Saint Tukaram .

PINC-11/13-A/1-A
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20.

21.
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(a) "Rrge e
(B) T
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(D) WS4 .
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Direction (Q. Nos. 23 to 32) : In the quéstions  Fdr (v w0 23 A 32) : M AR WA A A 3w
below are given two statements followed by WA P RAME mﬁiﬁiﬁuﬁﬁm T
two conclusions. You have to take the two . Sy :
given statements to be true even if they seem 2w T A 8 T T we & e
to be absurd and decide which of the given frewet § @ FR-w/@ ofhs SU A TR ¥/E ’

conclusions logically follow(s). '

N 23, Y :
23. Statements :
L All cats are animals. I wit fafgal S &)
II. No gnimal_,iﬁ;?‘. man. Ha?rgmm:@m L
Conclusions : ‘
(1) Some cats are men. faend |
(2) Some men are animals. 1) o R ?I :
2) FS e R & ) .

(A) Only conclusion (1) follows

S P . . i (A) FEa f (1) w3
(B) Only conclusion (2) follows = - ¥ @) i?“Wf( ) %
o ' (B) Faw frend (2) vt 2

(C) Neither (1) nor (2) follows - © AR (1) AR Q) WL

(D) Both (1) and (2) fonqwﬂk | - (D) 2w (1) 9 (2) &t &
24, Y :
24. Statements :
I. Some girls are birds. 1L o einal Rt &1
. Some birds are animals. n. 3o fuftal sme &

Conclusions :

fRed

(1) Some girls are animals.

(2) Some animals are girlsi.v - (1) @@Hgﬁ?ﬁmil

(A) Only conclusion (1) follows @ I8 TR %-‘I

W) o e e
(B) ¥aw et (2) vt R
(C) Ad () Mad (2w

(B) Only conclusion | (2) ¥f<;llows
(C) Neither (1) nor (2).follows

(D) Both (1) and (2) follow (D) 3 (1) T (2) =t &

PTNC-II/13-A/1-A 8
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25. Statements :
I.  Some copies are: pens.
II. Some péns are bags.
Conclusions :
(1) Some copies are bags.

(2) No bag;is a pen.

(A) Only conclusion (1) follows
(B} Only conclusign (2) follows
{C) Neither (1) nor (2) follows
(D) Both (1) and (2) follow

26. Statements :
I.  All papers are files.
II. Some pens are ‘files.
Conclusions :
(1) No paper is a pen.

(2) Some pens are pé\pers.

(A} Only conclusion (1) follows_

(B) Only conclusion (2) follows
(C) Neither (1) nor (2) follows
(D) Both (1) and (2) follow

27. Statements :
I.  Some buildings dfe rooms.
II. All rooms are bricks.:
Conclusions : ‘
- (1) Some buildings are l?r@cks.

(2) Some rooms arebulldmgs

(A} Only conclusion (1) follows .

(B) Only conclusion (2). follows
(C) Neither (1) nor (2) follows
(D) Both (1) and (2} follow

PINC-11/13-A/1-A
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e
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28, Statements :
I. Some men are clocks.-
II. All clocks are keys.
Conclusions :
(1) Some keys are men.

(2} Some men are keys.

{A) Only conclusion (1) foyows
(B) Only conclusion (2) foﬂows
(C) Neither (1) nor (2) follows
(D} Both (1) and (2) follow

29. Statements :
I. Some boys are parrdts.
II. Some parrots are flowers.
Conclusions :
(1) Some boys are flowers.

(2} Some parrots are flowers.

(A) Only‘conqlusion, (1) follows
(B) Only conclusion (2) follows
(C) Neither (1) nor (2) follows
(D) Both (1) and (2) follow

30. Statements :
I.  Only cats are animals.
II. . No historian is an animal.
Conclusions : 3
(1) Some cats are not historians.

(2) Some historians are cats.
(A) Only conclusion (1) follows
(B) Only conclusion (2) follows
(C} Neither (1) nor (2) follows
(D) Both (1) and (2) follow

PINC-11/13-A/1-A
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28, &YF
L 3® et afgat &1
n. ot ufeai wfemi &1 -

e ©

(1) ¥ =feat seht 1

2) Fo et =nfemt §1

(@) e fromd (1) Wt 2
(B) ¥aw frerd (2) wdt 2

(€) Fd (1) dad (2w
(D) 3 (1) 7 (2) T &

29, %Y ;
I TS @ed ad 8
I. ¥ da % §1
e
(1) 7o w® 5 &
@ o
() e e (1) @ R
(B) Faw frerd (2) @t ®
©€) A (Mad (2 udhd
(D) 3 (1) T (2) T &

30. YA :
1 aw fafgal swa )
0. i sfrersr s = 2
e
(1) % Tyl sRemmm )
(2) T e Rifgal )
(A) Faer Fred (1) Tt @
(B) Faw Frend (2) wdl &
(C) FA (1) MMa@ (2w
(D) 3t (1) 7 (2 &t &
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31. Statements : 31, ®YA
I.  All men -are heavy. ‘ ‘
B . whamfiahd
II. Some women are heavy. o
I 3o aitem wd §)1
Conclusions :
(1) Some heavy are not men. M :

(2) Some women are men.

(1) 3 Wi s T ¥

~ (A) Only conclusion (1) follows (2) o ufterd smerh 2

(A) Faw freed (1) v @
(B) Only conclusion (2) follows

B) ¥aw fewd (2) T E

C) Neither (1 2) foll
(C) Nei er()mr(_) ollows () Fd()dMmad ety

(D) Both (1) and (2) follow ' D) ;)T () @ E
32. FH :
32. Statements : A -

I. Science teachers do not use L fam & sors s ¥ & @ ,

plastic bags. AT T F@) !
II. Plastic bags are not used by some :

engineers. 0. ofRs ¥ it &1 W g8 Hhfad

’ ' Tt T sy

Conclusions : | 4
(1) All science teachers are engineers. : 7 \
(2) All engineers do not use plastic (1) -RIm % Tvh e w=hf §1

bags. - _—

2) oft R wnfRs ¥ &t =1 @

‘ _(A) Only conclusion (1} follows . Wﬁ'ﬂﬁl

(A) %waﬁesiu)mt
(B) ¥aw frerd (2) TR

(B) Only conclusion (2) follows
(©) Ngither (1) nor (2) follows’ © 7 'ﬂ}f“(l) o

(D) Both {1) and (2) follow (D) 2wt (1) T (2) w8 &

PTNC-II/13-A/1-A 11 .: [ PTO.
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Direction (Q. Nos. 33 to 40) : In the questigns
given below, there is a statement followed by
two assumptions. Give the answer by deciding
which of the assumptions is/are implicit in
the statement.

33. Statement :

34.

We need to appoint more teachers—
Principal informs the school staff.

Assumptions :

I  Teachers are available.

II. Present teachers are not good.
E St S

e

(A} Only assumption (I) is implicit

(B) Qnly assumption (II):is implicit

(C) Neither (1) nor (1) is implicit

(D) Both (I) and (II) are implicit

Statement :

The pen is mightier than the

Assumptions :

I. The pen is made of sttdﬁi’ger metal
than the sword.

II. “The' power of thé miind is much
stronger than brute physical
. {POWEE iy ST ‘

(A) Only assumption (I) is implicit

(B} Only as'gu'mptionw (1) is implicit

¢

(C) Neiglge: (0 r;ogﬁw(llk) is implicit

(D) Both (I) and: {ll). are implicit

PTNG-]I/13-A/1-A
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e (wv do 33 @ 40) : = A T vl o ww
T &) el < rft 1 g fota R g I A f
FA-Ht geluron /qdurond 7@}, 7 wem § srafifa

2/2

33.

34.

%Y : v ;
A 3 T ®ie B g B R
fF o s s figwm A it
AT 2|

oo

I 3TeA 3 ¥

1. SEHF FeH 3758 TE 8
(A) et rom (1) sfafifea @
(B) Wﬁmm)aﬁaﬁ%ﬁ%
(©) T/ () A& (1) siatifea B
(D) 3 (1) @ (1) Siafifea &

U ¢
o, deEr § 37 ahde ]

FSLLLLE

I oW, JeER & oNa "AeEd gQre d
it Bt 2 -

II. ufces &t wifs, wiifkes wfe @ iftes
AERaeR Xl 81

(A) et gefwon (1), i
el qduren (1) Siaiifea 3
& (1) R T & (1) ofafifea 2

(D) 3L (1) a=n, (1) fafiRdd

(B)

©
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35. Statement :

36.

The hike in kerosene and LPG
prices has mitigated the increase in
the oil pool deficit. -

Assumptions :

L

II.

(A)

(B)

(€)

(D)

Subsidy on petroleum products
adds to the oil pool deficit.

The consumption of kerosene and
LPG is expected to decrease.

Only assumption (I} is implicit

Only assumption (II) is implicit

- Neither (I}:nor (Il} is implicit

Both (I) and (I} are implicit

Statement :

Why don’t you invite Ashish for the
Diwali party this year?

Assumptions :

L
1I.

(A)

(B)

(€

D)

Ashish is not from the same city.

Unless invited, Ashish will not
attend the party.

Only assumption (I) is implicit
Only assumption (II) is implicit
Neither (I} nor (II) is implicit

Both (I): and (I} -are implicit

PTNC-1I/13-A/1-A 13
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37. Statement : : 37. % :
“Everyone desires to buy a “geier Rl FFH @lied & o
personal computer.” (Statement of . = 21" (o o remeff 1 %)

a college student)

‘I\éﬂ'ﬂ"ﬂﬁ;

Assumptions :

I.  Personal computers are not a need
but a luxury.

I v R aewe T8 8, Wy
IERUTGIESL

II. Use of personal computer improves
quality of skill. .
1. 9U9a R & WA & Il & R A

UR el 2
{A) Only assumption (I} is implicit
(A) Faa Q@uwon (1) iR §

(B) Only assumption (Il) is implicit

(B) ¥t qEuwRen (1) afifa &

(C) Neither (I) nor (i) is implicit © A 0 iR 7 @ () iR &

(D) Both (I) and (II) are implicit (D) a1 () qu (1) HaiiEa &
38. YT
38. Statement : , : Rl N SR

Economic development and social = TR
justice should go hand-in-hand.

Assumptions : S :

I. Only economic development can 3 R R &
bring social justice. L N d e

L ET I

1I. Life without social justice is worth
not living.

1. R = & fam sfiem R 9w
@ R\
(A) Only assumption (I) is implicit

(A) e TN (1) SiafHied &
(B) Only assumption (II) is implicit

(B) ¥ qeuron (i1) Safifea 3
(C) Neither (I) nor (II) is implicit (C) A= @ A () i 2

(D) Both (I) and (II) are implicit (D) Mt (1) auv (1) 3iafifea &

PINC-II/13-A/1-A 14
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39. Statement :

TR o

Read the book to get detailed and
comprehensive information on this
issue,

Assumptions :

L

II.

(A)

(B)

(€

(D)

The person who wants this
information can read the book.

There are other books available on
this issue.

Only assumption (I) is implicit

Only assumption (II) is implicit

Neither (I) nor (Il) is implicit

Both (I} and {II} are implicit

Statement :

Read the notice before entering the
club.

Assumptions :

L
IL.

(A)

(B)

(©

D)

PTNC-II/13-A/1-A

People are literate.

Club is not for blind persons.

Only assumption (i) is implicit

Only assumption (II) is implicit

Neither (I) nor (Il) is implicit

Both (I) and (Il) are implicit

15

39,

GET IT ON
Google Play

W N W faqa W owwe A
IFEHR W FR ¥ TS B Q|
'E&HTUTI‘Q:

I =i, St Il SEal ¥, 79 9%
qhar

I 39 TR0 W A Teash oft uetey &
(4) ¥ e (1) siaFiiRa @
(B) ¥Fawt gelawon (11) T &
(€ A @ @ () afifea 2
(D) W (1) 7o (1) SFafifea &
FH :

9 | YA A U5 9 GE R TG
o :
1L @ w-fad
I o= Ida | & forg € R
(A) Fae qdaron (1) afiRa &
(B) heret qurom (1) SafiEa &
() Ta @& ) siafifa

(D) 3t () e (1) ik ¥

[P.T.O.
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SECTION—B | Wr—B’
MENTAL ABILITY AND MENTAL APTITUDE
Afgeh g & AHiE® el
41, Which of the following will replace the 41, W g (7) & =m ) fafafea & &
question mark (?) sign? T-ET ATCT?
ZA : YB :: XC: _?

ZA : YB : XC: _?

(A) VC
(A) VC
(B) YD
(B) YD
(C) NP
(C) NP
(D) WD (D) WD
42. If 4325 is to 5324, then REAP is to 42. IR 4325 W 5324 @y §, A W TR
REAP &I fo@i
(A) PEAR
(A) PEAR
(B) RAEP
(B) RAEP
(C) PAER (C) PAER
(D) ERAP : (D) ERAP

PTNC-11/13-A/1-A 20



https://applink.adda247.com/d/XhqWf9lSap

Adda24

43,

44,

45.

PTNC-II/13-A/1-A

Which of ‘the #8Hewinig letters will cottte
next in the same pattern in the given
letter series?

DFIMR_?
A) Y
(B) W

©Q Vv

D) X

Complete ithe following letter ~series
which follows a particular pattern :
c _bba _cab _ ac _ ab _ac
(A) bcaca
(B) abcab

(C) acbcb

(D) None of the above

If in a row, Rahul is standing on 16th
position- from the front and on 29%h
position from behind, then the total
number of persons in that row is

A) 43
(B) 44 .
(C) 45

(D) None of the above * . .

21

GET IT ON
Google Play

43 Ry e o ¥ g fd & sy W

- vt e PrefaRee T HRl 82
DFIMR_2_
(A) Y
B) W
© Vv
{C.
D) X

44, Prafefem o o, e R 4t @

T et 8, B QU R

c _bba _cab _ac _ab _ac
(A) beaca
(B) abcab
[C) acbcb
O wHERAREE

45. % UF URE A TEH oW V-16d W W AW
3 ¥ 294 @MW | wer 2, @ 3| ufk A
saftral B o gE R

A) 43
(B) 44
© 45

D) TEEddAER o o
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a6, R x 3y A PiE T AR

46. If x and y are two positive integers such

that x¥ = 125, then the value of y is xY¥ =125 @ quﬂ‘%

@A) 5 ‘ A) 5 .

B) 3 B) 3

© 4 © 4

©) 2 (D) 2 .

L If S i - '
47. If 2 of 20% of a number is 150, then 47. R fedl GS ¥ 20% % 9 150 %’ A

the number is dem d
(A) 900 (A) 900
(B 750 (B) 750
{C} 600
. (C) 600
(D} 1500
(D) 1500

'48. The value of 6308x931-6308x 831

is | 48. 6308x931-6308x 831 F AF B
(A) 63080 (A) 63080

(B) 93100 | (B) 93100

(C) 630800 ) " (C) 630800 |

(D) 83100 (D) 83100

PTNC-11/13-A/1-A 22
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49, If 1250+480%300=2xx, ‘then the

value of x is -

(A) 3000

(B) 1500

(C) 4500

(D) 3500

¢ 50. Which of the following numbers will

replace the question mark (?) sign?
26|10 "
22 {18 | 14
? |30 34}

(A) 26

(B) 24

(C) 28

(D} None of the above

851. The value of

' _ {10-1)(10-2)(10- 3)...(10 - 19)(10 - 20)
1I0X9OX8X7Xx6X5x4Xx3x2x1

is
(A) 2
B 1
€ o

(D) Cannot be-determined

PTNC-11/13-A/1-A 23

49,

50.

51.

GET IT ON
Google Play

it 1250 4450~ 300 =2 x x, T x F1 7M

?

(A) 3000

(B) 1500

(C) 4500

(D) 3500

s g (?) % wF w Paffes § @

FA-H wEn et

12610

22 | 18 | 14
2 |30 |34

(A) 26

(B) 24

(C) 28

(D) 3T & & ¢

(10-1(10-2)(10- 3).:.(10- 19){10 - 20)
10X9Xx8Xx7x6X5x4x3x2x1 .

w1 7H §
A) 2
B) 1
(© o

(D) e - fman <t wean

[ P.T.O.
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52.

53.

54.

How many triangles are there in the
figure given below?

(A) 12
(B) 16
(C) 18

(D) None of the above

Which of the following numbers will
replace the question mark (?) sign?

0, 7, 26, 63, _?
(A) 176
114
(C) 138

(D) 124

If @ means “+’, b means <’, ¢ means %’
and d means ‘“, then the value of
16c10b14a24d4 is

(A) 242
(B) 168
(C) 152

{D) None of the above

PTNC-II/13-A/1-A
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52.

53.

GET IT ON
Google Play

3 R foer 3 Pt 1 s Reee 27

A) 12

(B) 16

(C) J 18

(D) e & & g &
Wﬁé(?)‘%mm‘ﬁm%ﬁgaﬁ@r
HA-H TEm swii?

0, 7, 26, 63, _?

(A) 176
(B) 114
(C) 138

(D) 124

54. A o ® A ¥, b W AWHE <, ¢ F

e 0 N d W oaed v R, @
16c10b14a24d4 1 °9H ®

A) 242

(B)’168
(C) 152

(D) 3 & Q@ Hi5 T
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!
& F
#

A 5 s, B e

g g,

R SN

PTNC-II/13-A/1-A

56.

57.

\85. Find the odd one out. -

(A) 23
(B) 17

(C) 13

(D) 15

If in a certain coded langiiage HOUSE
is coded as IPVTF, then BZQQNL will
be coded as

(A) CARROM
(B) CASSON
(C) AXPPMN

(D} AYRRMN

If GIVE is coded as 5137 and BAT is
coded as 924, how is BITE coded?

(A) 7941
(B) 9147
(C) 4971

(D) 9417

25

GET IT ON
Google Play

55. o 5t 9 fr fyweg @

T

(A) 23

(B) 17

(\&)

" (D)

56. IRk w% gz w1 ¥ HOUSE #t IPVTF foran
wTan 8, & 3¢t Fe W § BZQQNL ®m

(A) CARROM :
(B) CASSON

(D) AYRRMN

§7. 3 GIVE ! gz w1 & 5137 @41 BAT &t
924 forar s 2, @ 3¢t g2 Wi § BITE
gm

(A) 7941
(B) 9147
(€) 4971

(D) 9417

[PTIO.
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58. In a certain coded language, 3456 is - 58. IR TH Fe WW A3456 H ROSE -a

coded as ROSE and 12783 is coded as 12783 ® CHAIR foran smn 2, &t =&t F
CHAIR, then 567312 is thg code for arer & 567312 I foran s

(A) SEARCH (A) SEARCH
{(B) PEARCH (B) PEARCH
(C)-RACESH . .. {C) RACESH. -
V,’Ly";‘ wr ) § - 0 B oo B :., A 5 2
(D) None of the abeve = - (D) 3udw & & HE &
59. Which of the following ‘numbers will 59. fififas § ¥ yweEs fR (?) F WR W
replace the question mark (?) sign? -t gE ety M
17, 12, 18, 11,”_2__, 10 17. 12 18, 11, _? , 10
B T (A), 16
= i1
B) 19 o (B) 19
c) 21 (C) 21
(D) 22 (D) 22
PTNC-11/13-A/1-A 26
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A R

61.

62.

.  The missing term in the letter series

ABE, BCF, CDG, DEH, _?_

is

(A) EFG
(B) EFI
(C) DEH

(D) HIK

The number of rectangles in the figure

is
@) 7
B) 8
© 9

(D) 10

If Ram is to the soufh of Shyam and
Naresh is to the east of Shyam, then in
which direction is Ram with respect to

Naresh?

(A) South-East

(B) South-West

(C) West

(D) North-East

PTNC-II/13-A/1-A

60..

61.

62.

GET IT ON
Google Play

AR AR
ABE, BCF, CDG, DEH, _?
AqEwe
(A) EFG
(B) EFI

(C) DEH

(D) HIK

=

% et A gEn

A 7

B) 8

€ 9

(D) 10

I W, ¥ & <R i R ol W, wm &
o 4 2, d Rw F ey w ey Rwm & 87

() =g
(B) cRrwr-ufim
(€) ufim

(D) SW-1d

[P.T.O:
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63. Seema walks 75 metres towards east;

64.

she turns to the left and walks
25 metres. Again she turns to the left
and walks a distance of 40 metres;
again she turms to the left and walks a
distance of 25 metres., How far is she
from the starting point?

{A) 35 metres
(B) 25 metres
(C) 90 metres

(D) 165 metres

In a month of 31 days, third Thursday
falls on 16th. What will be the last day
of the month? »

{A) 5th Friday
(B) 5th Saturday
(C}) 5th Wednesday

(D) 5th Thursday

PINC-1I/13-A/1-A

- 64.

GET IT ON
Google Play

B 75 Wi @ H wE TeN F gy i
W et 25 HKX Ferdt | T: a7 At @
TR 40 WX wordt ® R fw wrfi aw
e 25 R I 31 W T I IS
forg @ foraeft 0 w27

(a) 35 HiK
(B) 25 X
(C) 90

(D) 165 HX

I wh 31-feadig 7R & 16 art@ # dww
Fewafaar 3, @ "R @ w3 @

(A) =l gepar
(B) digal wfFER

(C) uiEal g¥ar

(D) ui=al geeafaar
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65. If +’ means “+’, ~’ means ', %<’ means <’
and ‘“+’ means ‘), then the value of

26x5-5x3
6+5%x2+15+2

is
@) -12
B) 11
(© 10

(D) 8

66. Which of the following numbers will
replace the question mark (?) sign in the
given series?

9, 11, 26, 97, _?_, 2861
(A) 524
(B) 642
(C) 478
(D) 428
67. A person spends ird of his income on
food. Of the remaining, he spends 1th
on cloths and -g-th on education. After
this, he has ¥ 1,980 with him. His
income is
(A) € 5,400
(B) 4,800

(C) ¥6,500

(D) ¥ 7,600

PTINC-11/13-A/1-A
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Google Play

65. IR W W A 4, W AT ¥, K H
aed < a4 A %R, A

26x5-5x3
6+5x2+15+2
W AE R
(A) -12
(B) 11
(C) 10
(D) 8

66. AW 9, 11, 26, 97, __2 , 2861 ®
TS fE (?) % wm W e § @
- wewn snwit?

() 524
(B) 642
(C) 478

(D) 428

67. & HfRh AT WS HT TH-Fagrs W wis|
R, A F TH-NAE W0 Fl W o L oo
fn W & W@ ¥ g IEF O
€ 1,980 9 A | 39 =R A I R
(A) ¥5,400
(B) ¥4,800

(C) ¥ 6,500

(D) ¥7,600

[ P.T.0.
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68. Rakesh’s present age is 2rd of Ramesh’s 68. THW A T Y TW K AR W 2 )
age. After 5 years, Rakesh will be of 5 a¥ qgE, TN B AP 45 T4 TR @
45 years. Ramesh’s present age is - ) &l FaAE _Y 3
(A) 45 years ‘ (A) 45 T
(B) 60 years . (B) 60 =4
(C) 40 years | (C) 404
(D) None of the above (D) Sugw ® ¥ =+ T
69. Which letter is opposite to the face E? 69. E & UWA % Both W hi-T1 &R @m?
(B) F (B) F
) A C) A
(D) D D) D
. Which number is opposite to the face 1? 70. '1 % WA & Felh T HHA-91 37 ATTm?
@ S A) 5
B) 4 B) 4
€) 6 (€) 6
(D} 3 (D) 3

PINC-11/13-A/1-A 30
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SECTION—C / wii—C

GET IT ON
Google Play

SCIENCE AND SIMPLE ARITHMETIC

71. Which one of the following gases is used
by the plants in photosynthesis?

(A) Oxygen
(B) Nitrogen
{C} Hydrogen

(D) Carbon dioxide

72. Magnetic north pole of the earth is near
to geographical —— pole.

(A) east
(B) west
(C) north

(D) south -

73. The reason for falling down of the stone
which is thrown upward is

(A) friction force
(B) rotational force
(C) gravitational force

(D) magnetic force

PTNC-I1I/13-A/1-A 35

71. WH-Gyene § dyt g e d @ Ha-d i
A i St ]

(A) ATwfsH
(B) A
(C) TwEYRH

(D) e TFIFETES

72. gt & I PERE gd, Hdnifees —— gd
% fise g 21

A it
(B) ufwrdt
(€) =l

(D) aftasft

73. W f AR %% W TR F R e =
FRO &

| (A) mfvraa
(B) oo =
() T
(D) FhE T

[ P.T.O.
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74. In which of the following, vitamin A is  74. P § ¥ frel frerfim A e
found in highest quantity?

(A) Amla &) st
(B) Potato (B) =T
(C) Pulse € =
(D) Carrot (D)

75. wARET T H FROT R

75. Malaria is caused by

{A) bacteria () Sty
(B) virus (B) farmy
(C) fungi (C) %
(D) parasite (D) G
76. The component present in food which 76. ISH T IR H I YeH FA I 9T &
supplies energy to the body is
(A) urt
(A) water
(B) farfim
{B) vitamin
(C) FARIfRE
(C) chlorophyll
(D) carbohydrate (D) FHTEESE
77. The purification of blood takes place in 77. R H XI@EFWT Bl B
(A) heart A) TR
(B) kidneys (B) &I #
(C) lungs | (©) Het
(D) bones (D) et &

PTNC-II/13-A/1-A 36
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78. Which of the follewing is not a 78; foafafge & ¥ HR-w v
unicellular O{ganism? dt 27 o
(A) Earthworm (A) FFgem
(B) Bacteria ; - (B) Sty
(C} Amoeba : . | () vl
(D) Paramoecium (D) Fifirm

79. The formula of velocity is

79. MF G B
(A) Distance/Time " (ﬁ -
(B) Displacement/Time (B) fre/wm
(C) Distance x Time © 0w
(D) Speed x Time (D) < x
.80, Il?e{;; to whichf the :colou;' )p‘f bloqd is Lo EBIETETW %H%EHT{W v &7
(A) Haemoglobin J () e
(B) Chlorophyll N | (B) RIS
(C) Cytoplasm | (C) FiRmEE
(D) Platelet (D) wieeie

PTNC-II/13-A/1-A 37 : [ P.T.O.
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81. Among 263, 323, 361, 403, the prime 81.: 263, 323, 361, 403 § 3N
number is
(A) WW &
(A) the first one
(B) the second one - (B) T wem
(C) the third one (C) Fa &1
(D) the fourth one (D) a?gﬁ e

82. The value of 273 x 643 is P
82. 27 3 x64 I H UM R

A) 144
A) 144

1
(B) 165 .
(B) 160

(C) 36
©) 36

1
(D) Taa 1
D) —
144

83. The value of
15~ (-3){@ - 4) + 3{5 + (~3) x (-6)}

83. 15-(-3){4 —4) + 3{5+ (-3) x (~6)} FT W B
is ,

A 15 (A) 15
B 0 (B) 0
15 15
(©) T - (©) 39
(D) Cannot be determined (D) T FA qed =

PTNC-1I/13-A/1-A 38
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84. The compound interest on € 8000
for two years at 121% ‘interest per

annum is
(A) € 2,125
B) ¥ 212
C) ‘? 21

(D) € 400

85. Which of the following is a pure
recurring:decimal?

(A) 0.2954
(B) 3-18 e
(C) 42.06
(D) 0.142857
86. Among -100, -20,4.;3&8(‘;,;;9, the, greatest
one is N
(A) the first term
(B) the second term
(C) the third term w1

(D) the fourth term

PTNC-II/13-A/1-A 39

84. IZI%WWEQH«Y 5,UuU - 1Y

85.

. +100, 20, -80, 0 T q ftrran AA-AqR?

aﬁaﬁmmﬁkm%
(A) ¥ 2,125

(B) ¥ 212

€ €21

(D) ¥ 400

Fafofes d @ #F-w fRygs  omadl
amaa%?

(A) 0-2954

B) 318

(C) 42-06

(D) 0-142857

(A) F9H 9

B) frfaw

€) T

(D) =gd

[P.T.O.
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87. In

89.

P16
-780Q
1R

w

the value of (P, Q, R) is

@ 6,3,

(B) (9, 3,

< 0,3,

(D) (6, 3,

The difference of the place values of
both the 6’s in 460436 is

(A) 59999

(B) 59994

(C) 60006

(D) None of the above

A shopkeeper marks on an article 20%
above the cost price and allows 5%
discount. His gain is

(A) 15%

(B) 14%

(C) 13%

(D) 16%

9)

3)

6)

9)

PINC-II/13-A/1-A
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87.

3 (P, Q, R) WA R
@A) @, 3,9
B) ©, 3, 3)
€ (9, 3, 6)

(D) (6, 3, 9)

88. 460436 # 31 6 % wHI WHI F I 3
(A) 59999
(B) 59994
(C) 60006

(D) 3w & /@ w7

89. Th FHMER ©F oG W 3 Ted € 20%
ifter sifha T @ W 5% A ogE I]A R
I A}

A) 15%
(B) 14%
(C) 13%

D) 16%
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(A) 1 | N ‘
B) 3
€ 2
(D) 5

91. Three athletes step off frfém same place.
If measures of their steps are 40 cm,
~45cm and 48 cm respectively, then
" from the starting point, “they will again

sfep’ together ﬂ’ter the d{stance

(A) 480 cm

(B) 670 cm

(C} 500 cm

(D) 720 cm

92. The value of (-2)~3 x(2)° is

e om

A @

B) -8
© -@°

(D) -2

93. Two-fifth of a number is greater than

" oné-third of the number “by 2. The ‘

92,
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Google Play

30 WW‘&&&” .
(a) 1 R
B) 3 | PR
! &
€ 2
(D) 5.
91, # U T & A A5 wow w@ § AR

TR I T 40 tho, 48R0 o
‘ @4gaomo#amwam
RFwRAE: @m;%qaﬁ‘f‘

(A) 450 o o
(B) 670 ®o o
(C) 500 ®o Hto

e

D) _72() Yo o

(2 xia® o d
®w @° |
B -@°
© -2

(D) -(2)2

Ao oo sodis TR

93. @mmzﬂmm%m-ﬁﬁémﬁ

number is s 2 TR %Jﬂm SR o
(A) 30 @& 30 |
G N T T
(B) 22 (B) 22 ABEELT fm & ook
(D) 28 (D) 28 4,,1\,: ,
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94.

The ratio of cotton, ,and wool in a shirt of
140 gm is 3: 4. The welght of the cotton
in it is

(A) 90 gm
(B) 80 gm

(C) 60 gm

" (D) 70 gm -

96.

97.

The average of 5 observétions was
- found 35. But later on it was found

that 55 was mlsread as 35. After the
correctlon the average is -

(A) 35

B) 39

(C) 40

(D) 45

In (729)'%°, the digit at the unit’s
place is '

@A) 1

® 9

© 7

(D) 2

Which of the following statements is

‘ falge?

(A) The sum of two integers is always

an integer
(B) The difference of two integers is
always an integer

(C) -14 >-8-(-7)

(D) -5-2>-8
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w W gl 3 wuE ¥ ,
sgaa & § a wé # wR 140 TW ¥ g
I 1 9K 3

(A) 90 Im
(B) 80 7™
(C) 60 7™
(D) 70 TW
atar Jeit 1 shed 35 w1 AT ARE AR i

Tz T 0 % 55 F TRk ¥ 35 w1 T
IR guR ¥ wea ohea R

(A) 35
(B) 39
(C) 40

(D) 45

(729)'4° # srd *1 3 B

@) 1
(B) 9
© 7

D) 2

97. ﬁnﬁaﬁaaﬁ%a;h-mwm%?

(A) ﬁqgﬂﬁmaﬁzﬁm@%ﬁm%
3 quifeht 1 IR THIN T IR Bl &

-14 > -8-(-7)

(B)
€

(D) -5-2>-8
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98. The value of 12 +‘,22 +3.?;‘-|:{,.;5§-_102 is 8. 1?\*'22 "'/32 +'*‘:—+102 T

(A) 1050 | (A) 1050

(B) 485 (B) 485

(C) 385 ~ (C) 385

(D) None of the above (D) 3Ww & & 5 T :
: 99. Conversion of 2 into percentage is 99. $ w W # ofed 3
¢ | |

(A) 83% (A) 83%

(B) r120% ' (B) 120%

© 1 103% (© 110i%

1
(D) 833% (D) 831%

100. If the first, second and fourth terms
of a proportion are 15, 21 and 49
respectively, then the third term of it is

100. uﬁ'@m@m%m,ﬁmaa@w
%A 15, 21 @& 49 §, O o fau wE B

45 ' 45

(A) - (A) =
’ (B) 50 | (B) 50
© 35 () 35
(D) 56 (D) 56
* K K

PTNC-I1/13-A/1-A / 43 | [P.T.O.
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INS‘!‘RUCTIONS REGARDING METHOD OF ANSWEREG QUESTIONS
wﬁ ¥ TR J wraf ¥y

{Please use Black Ballpeint Pen)
1. Method of Marking Answers :

only one ecircle out of the given four, in
the OMR Answer—Sheet against that
question.

2. Valuation Procedure :

question, only one of them 'is correct.
One mark will be awarded for each
correct answer. If more than one circle
are darkened for a question, it will be

know the correct answer, hence, no
mark shall be awarded.

3. Cancellation or Change in Answer :
It will not be possible to change the
marked circle with Black Ballpoint Pen.
Therefore, correct answer should be
carefully chosen before marking it on the

1. OMR Answer~Sheet

4. Handing over of Answer-Sheet to
Indﬁﬂaﬁr
(i) Please ensure that all entries in the
- Answer-Shes! yare filled up properly,
ie., Name, WNpll No., Signature,
 Question BookleW, No., etc., before
handing over to thsInvigilator.

(il CANDIDATES ARE PERMITTED TO
CARRY AWAY THE QUESTION
BOOKLET WITH THEM ABTER THE
EXAMINATION.

While using Answer-Sheet, adequate
care should be taken. Do not tear or
spoil the Answer-Sheet by folding or
wrinkling. The impression of the circle
made by Black Ballpoint Pen shoild not

To answer a question, please darken

There are four alternative answers to a |

presumed that the candidate does not

5. Care in Handling the Answer-Sheet :

(Faar wre afer-digee A & WA )

. I WA F alw

IW [ F AT 3o Wo Mo IWt-vy #
Tt 9@ & 9ma RBu g er et | @
A TH M G B B

qediHT Tl

s e 5 T A e &,

F I GE | TE 9 IW ik R
T 3F YW A AR @ A WE N Fe
frq wr &, Q@ a8 W son R wheneff @
T 1 HE I AW € R 3R 3R A Iw
T faw sm

IN T AT @7 AT I3

INM o A1 e w0 F R s
FA-UTE= U9 & W T MR F P ) swen
gnE TE M| ST Mo Wo HRo IW-YF |
IW F MNen WA F qd G IN W I
wEuHgES F

. IW-UF Herw ) qlqr:

() TwE N IN-w3 dw F R FE

ghfr R & f s & b it |

N—IW, U TR, T, TH-
Ifem @ wHiw anfk Fuife =R w
Sw-dtw W T F)

(i) whan & I el | g~

g o wig & W srgale
.4

IN-9F & IJ9qNT F Grayrt :

come behind the Answer-Sheet.
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